Crystal Maze

coded in choco3



Put a different number in each circle (1 to 8) such
that adjacent circles cannot take consecutive numbers
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Put a different number in each circle (0 o 7) such
that adjacent circles cannot take consecutive numbers




The numbers are the identification of a circle

Put a different number in each circle (0 o 7) such
that adjacent circles cannot take consecutive numbers




Put a different number in each circle (O to 10) such
that adjacent circles cannot take consecutive numbers
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importc
importc
import
importc
importc
importc

public

Java.io.File;
Java.io.ICException;
Jjava.util.Scanner;

org.chocosolver. solver., ®;

r

aorg.chocosolver.solver.variables. ®;
org.chocosolver.solver.constraints. *;

cla=s=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {

-

Scanner =c = new Scanner(new File (args[0])):
int n = sc.nextInt(): [/ vertices
Solver =zolver = new Solwver ("cry=tal maze™);

IntVar[] v = VF.enumeratedhrray("v",n,l,n,solver); // n wvariables with wvalues 1 ton

whnile (sc.hasMNext()){
int i = sc.nextInt |
int j = sc.nextInt |

)
)

solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)
for (int j=i+l;j<n;

J++)

solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )
for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):
Svyvestem.out.println ("nodes=:

"

cpu:

" 4+ =molver.getMeasures () .getNodeCount () +
" 4+ solver.getMeasures() .getTimeCount () )



import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.*;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);
IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)
for (int j=i+l:j<m;j++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )

for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):

Svetem.out.println("node=: " 4+ =zolver.getMeasures () .getNodeCount () +
" cpu: " + solver.getMeasures() .getTimeCount () )

-



import java.io.File;

import java.io.ICException:
import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.®; Q{ Yhpubli. EI&IQ

import org.chocosolver.solver.constraints.*;
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import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.*;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = gc.nextInt(); // vertices

Solver =zolver = new Solwver ("cry=tal maze™);
IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

whnile (sc.hasMNext()){

int i = sc.nextInt(): a =l cmB ml
int j = sc.nextInt(): i 1 b -
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import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.*;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);
IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)
for (int j=i+l:j<m;j++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )

for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):

Svetem.out.println("node=: " 4+ =zolver.getMeasures () .getNodeCount () +
" cpu: " + solver.getMeasures() .getTimeCount () )

-



importc
importc
import
importc
importc
importc

public

Java.io.File;

Java.io.ICException;
Jjava.util.Scanner;

org.chocosolver. solver., ®;
aorg.chocosolver.solver.variables. ®;
org.chocosolver.solver.constraints. *;

cla=s=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {

-

Scanner =c = new Scanner(new File (args[0])):

int n = sc.nexXxtInt(); // vertices

Solver =zolver = new Solwver ("cry=tal maze™);

IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)
for (int j=i+l:j<m;j++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )

for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):

Svetem.out.println("node=: " 4+ =zolver.getMeasures () .getNodeCount () +
" cpu: " + solver.getMeasures() .getTimeCount () )



import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.*;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);
IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)
for (int j=i+l:j<m;j++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )

for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):

Svetem.out.println("node=: " 4+ =zolver.getMeasures () .getNodeCount () +
" cpu: " + solver.getMeasures() .getTimeCount () )

-



import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.*;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);
IntVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+)

for (int I=i+l;j<n:i++)
golver.post (ICF.arithm (v [i],"!=",w[J]1)):

System.out.println(=solver.findSclution() )

for (imt i=0;i<n;i++) System.out.println(v[i] ..getValue(}):

Svetem.out.println("node=: " 4+ =zolver.getMeasures () .getNodeCount () +
" cpu: " + solver.getMeasures() .getTimeCount () )

-



import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.¥®;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);

IntWVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n

while (2c.hasNext()){
int 1 = =sc.nextInt():
int j = sc.nextInt():

solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+4)
for (int i=i+l:d<n:;i++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

for (int i=0;i<n;i++) System.out.println(v[i] .getValue()}):

__ _ ount ()} +
" cpu: " + solver.getMeasures() .getTimeCount () )



import java.io.File;

import java.io.ICException:

import java.util.Scanner;

import org.chocosolver.solver.®;

import org.chocosolver.solver.variables.,®;
import org.chocosolver.solver.constraints.¥®;

public clas=s CrystalMaze {

public =2tatic void main(String[] args) throws ICException {
Scanner =c = new Scanner(new File (args[0])):
int n = sc.nexXxtInt(); // vertices
Solver =zolver = new Solwver ("cry=tal maze™);
IntWVar[] v = VF.enumeratedaArray("v",n,l,n,solver); 7/ n wvariables with wvalues 1 to n
while (2c.hasNext()){

int 1 = =sc.nextInt():
int j = sc.nextInt():
solver.post (ICF.distance (v[i],v[3),">",1)):

zc.clo=e()

for (int i=0;i<n-1;i4+4)
for (int i=i+l:d<n:;i++)
solver.post (ICF.arithm (v [1i],"'=",v[J]1))

System.out.println(=solver.findSclution() )

Svetem.out.println("node=: " 4+ =zolver.getMeasures=s () .getNodeCount() +

" cpu: " + solver.getMeasures() .getTimeCount () )



Compile & Run
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So, what IS a constraint program?



Possible answers

It's a program that generates variables and constraints to represent a problem

It's a program that creates a model of a problem and then
uses search and heuristics to solve the problem

It's a program that compiles some problem into a representation as CSP




